
 Problem of the Week #10 
 100  Pound Potato Challenge 

 A Farmer grows 100 pounds of potatoes. The farmer sells them to a grocer who will 
 put them into 5-pound bags and 2-pound bags. 

 What is one combination of bags the grocer could make 
 using all 100 pounds of potatoes? 

 Can you list  all  the possible combinations? 

 Show your work using pictures, numbers or symbols. 

 Example:   The grocer could have ____ 5-pound bags and ____ 2-pound bags. 

 Name:___________________________________________Class:__________ 
 First and last name, please  Due: 2/9/2022 (Thursday) 


